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2009 20\0 2011 2012 2013 2014

7R A 3R B I SR FA P AT

2009 4:3 3 625
2010 6:5 6:5 & ;

2011 7:5 4:3 2 Mﬁﬁwﬁlmﬁm e;aha‘iﬁ
2012 3:4 Va2l mﬁweﬁ?
2013 4:5 5.6 | G " In which year was the income of
2014 5:6 7:8 & comwwAmemondhshﬁt?

1. @ 2009, 2011 74 2014 & T B (w2014 @203

i 2 © iz o OB

What is the profit gained bycmnlﬂ!
nzm zoumzouw ;
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) ﬁmmq?

(D)nosm/t er .
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Who is the Manager ?
(&) Ms. A AR
(B)Mu C :
(©) Mr .57 o 1 GiDiE

.8 M 2
. s B ?

Who is Clerk ? (C) 18-8-24-2021-5
(A) Mr. B D) 20-21-24-5-8-18
(B) Mrs. D ;

(C) Miss F

: ‘(C) Mr. B
; (D)M.rs C

o R B ST TS G
.@zmwammtm T R g
el SR A e gEA R AR s e e

'(+)gaakm(—)m‘dwﬂfzmku

o

B X T ¥ o 7 Rl T ¥ o

nmﬁﬁﬁﬁmﬁmﬁ%‘? $20:-23 9

,mmw;‘lkszlnnmwstandﬂmhe‘ 12. AR P W F "WEAVE' @ FEZVX" -

turns to oﬂ!undwg}ksSlunAgamhe'

--u-unswmatmdwunrsahnmm ga::.a\w;mmﬁmm

*he turns to north and walks 7 km. In which forei ? !

dumuheﬁnmﬁ\emmhgpum? In a certain code language, “WEA w$
A AR e it in o ol

(®) Su¥/North language?

(€) TR/ North-West (A)ELFUATF  (B) FLEAUTF

~<u>mnntmum

;1. nﬂ B # NEPALT 7 'ms-o-ls.@_
13 forady &, < I B1S H STEXQG %
¥ fardh 7

Who is Teller ? 5

d In certain code “NEPALI" is wriften g
e = ) D © 6-150-15-10-13'. How ‘STEXQG' be
(C)Mr. A | (D) Mrs. D written in that code 7

(A) 2120-23-4-8-18
(B) 24-20-21-8-18-1

(D) STgRT ¥ W @1¢ 8/None of the :

Who is the Cashier
(A)Mr. Ad Mrs. D
(B) Miss F

et ¥ | e aRE B RS TS ¥
3R 3 o Ferr ¥ | 39S 9IS 98 SW

(D) F/East. (C) FLEUAFT (D) FLEUATF
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‘ e I € | DA W 1 e T8
A ¥?
3 Three of the following are alike and so

form a group. Which is the one that does

not belong to that group ?

(A) T /Pali (B) wrhl/Sharki

(C) mrpablo ®) a\é/None

1 ﬁﬁmﬂhﬁ@a srmsrra?ﬁﬁm—

{ Find out the missing letter in the

following table :

918

|
Ol
i
|

: 1S, s gwen ¥ ameh A
e e ? :
wmnumwwmmm““”

16. 9 & B N T T W
HHR [eH DY 3 90 B %, frar
- X B B o R
TF @ R el % aar
PIEHR 27 e 1 I e B am
o wmd, < =9 [ < <R Bt A
TR H G@M E—
The

fall

ing figures rep a

wooden block of cube shape with 3 cm as
its edge and all the face of the cube are
painted black. If the cube is cut along the
dotted lines and 27 new cubes are formed
with a volume of | cm’, each. What will
be the no. of non-painted blocks ?

The number which denotes Uneducaled
Urban Male :

®) 5 i

(A4
©)7 (D) 1 ’ { .:
17. cs)ﬂm‘w 8,9

18. T Wl H X1 X, Y61 Y F e &
3R Y@ Z % WK 2 X U Vv
AR ¥ W % e 3 X X X
V& e ¥ Frafafed § & -
TP BT T & 7
In a plane, line X is perpendicular to line
Y and parallel to line Z; line U is
perpendicular to both lines V and W; line
X is perpendicular to line V. Which one of
the following statement is correct ?
(A)Z, U 3R W <R /2, U and W

are parallel
" (B) X, VAR Y ¥HIRR &/X, Vand Y are
parallel
() . VIR UER W 3ged &/, V
and U are all perpendicular to W
(D) Y,V R W E/Y, Vand W are
~ parallel
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@) &8 @ & AR ¥is double the
number of green balls '

(C) el Aral i < w@ el @) Eerw i
i @i Sl ¥/is equal to yellow
balls minus green balls

(D) 8 qard o g #/cannot be
ascenamcd

e SRy A Aol B gl e

Ry ?
What is the total number of triangle in the
above grid ? :

l (A)27 ®)26

§

(©€) 23

(D) 22

9.0

21, ﬁﬁlﬁl‘ﬂﬁwwﬁm}ﬁml
wﬁr&nﬁmﬁx*mw
Pr-A W g 2

'ﬂﬂ%ivn 4 o
{ W %‘I ﬁﬂ_ W Consider the following matrix :
! i 3 What is the number at X in the above
{ :
i i 'P. iitﬁ _‘»(n+2)(2n+1) T
i ;
: v = i 307

£d * 2[24 (6

1

22. fmr B—

m.wqu,zemwwﬁ 1. A B® i ¥

R GA R SHE o camRad
@ i ¥ G i, 7@ A g B 3 gwm‘nl
@A e f e : 4' E’B'ﬁﬁt b
There are some balls of red, green and i 130
yellow colour lying on a table. There are EﬁDﬂwmt_?
&ww"wmw Given that

: are twice as many yellow 1. Adis the brother of B,
Yl s s are rom omen. Th nuibor 2. Cis the father of A.

\I‘ Your Personal Exam

(A) A (B)B
©yc (D)E
)
2. (A) c4 Viie
1,4__,

“ ‘
& DWEM’CIDWEM‘
BRI SIABH MY A p
D I 9 @

Prefafad da B CEEEA F T
B R IE® I A TS A T 5
wwx Al
ar fEl AL B, caﬁvDﬁ%AmBm
3k e Qe 1 B AR C f5¥e a7
Qe ¥l A AR D drehesia AR G
Qe ¥, C 3R D & AR abeara dem
il

Examine carefully the following statements
and answer the three questions that follows :
Out of four friends A, B, C and D, A and B play
football and cricket. B and C play cricket and
hockey. A ang D play basketball and football

C and D play hockey and basketball.
=feT T oA

v’
Ve
d i
X v
23. B, C 3R D Bi-w1 Wt Werd # ?
Which game do B, C and D play ?
(A) 9% afeT/Basketball

(B) &1 /Hockey

(C) fib¥e/Cricket

(b) wmooe

&
X
v
v

uwmmﬂamm
¥? 1

Who play football, basketball a1
hockey ? !
ORI ®C
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R &
I S

B play
cet and

ST

e T

- D 1,28R3/1,2&3

Who does not play Hockey ?
(A)D B) C

26, o @ A TReHraen 2 Wl ﬁm

Pl R AR Hifg |

With reference to the Capital Account

Convertibility (CAC). Consider the

following statements :

(1) 8 1 ¥ faea ¥ Riferey i 2y
e !Is:‘ﬂ YaE F TEY F g
AHI B IV B W P
i
It refers to the abolition of all
limitation ~ with respect to the
movement of capital from India to
different countries across the globe.

@) T TRG H I WX B s
TG HE B
It brings about a fair allocation of the
income level in India.

() & WA § SR T b e

fafFiT srerar faaRor # T Fwa
Bl
It helps in the efficiency

appropriation or distribution of
international capital in India.
IR & AT B G4 DIfG—
Choose the correct answer ﬁ'gyl‘ the
statements given above :
(A) 18R 2/1&2
B) 23R 3/2&3
©) 13%3/1&3

27. e IR f
WA 5 e ¥ 2

How much cagh prize is awarded in
Dhyan Chand Award b

(A) 210,00,000 (B) 225,000,000
(C)?SOOOOO (D)?SOOOOO

A ‘M‘"A-.h, W)
R st gy

28. wm.v:éém" %aﬁﬁmmt
Gl ¥ et P s w
xR $ifore—

Consider the following statements about

Amartya Sen’s advice regarding priorities

for India Economy.

(1) 39 T I A AR N/1t should
be commodity oriented

(2) ¥V TE-@ B AR /1t should
be people-oriented

(3) G afs fds afd i anffs
‘geEm - @A =IfRY|/Economic

Security to the poorest of the poor
@ faga asimw H 3P TR0 B

“'(A)l 2w3vﬂ%/1 2 & 3are correct
(B) 2,3 1 4 8 ¥/2,3 & 4 are correct
(C) 1,3 701 4 W8l 8/1,3 &4 are correct
(D) 1,2 4 W8 ¥/1,2 & dare correct

29.

31

prepp

uide

’

o BT T1en e o 2
Who was the first
Emperor 9

(A) TEIART W18/ Jahandar Shah
(B) F83Y 18/ Bahadur Shah

(©) wafmy/ Farrukhsiyar

(D) *ﬂwa YﬂB/Muhammad Shah

puppet  Mughal

W#fﬁ ﬁmsﬁm aﬁ'm'q
S TS G T ?

Who has been nominated as Brand
Ambassador of “Skill India Mission™ ?

(A) A <geeR/Sachin Tendulkar
(B) i fif/Sania Mirza
(C) fa=m are/ Vidya Balan

fORI@1 </ Priyanka Ch pra

WRig aISe SR e W ER S
qon qE -

Which instrument was played by famous
instrumentalist Ustad Binda Khan ?

(A) mﬂIISmng‘ ®) ’Nﬁ"'/"""m
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Which one is the complete and soientific

theory of leadership ? ’

(A) Rafy @1 Rigry/Situational
Theory

(B) 9g@da  ® it/ Multifactor
Theory :

(©) @i i @ Rafy & Rigrer/
Personal and Stivational Theory

(D) srgafis Rigr<1/Genetic Theory

aMme%wﬁaaﬁm
TE? :

‘Who has not been conferred with Padma
Shri Award ?
(A) R=n are/ Vidya Balan
(B) YgTY ~ AEEHY/Raghu  Nath
"~ Mashelkar
(C) gaxrsi 4%/ Yuraj Singh
- HE=Tg e Q'T/Mohamma i Baig

S AR B ¥ ?
Who is at the highest ranked
commissioned officers in Indian Navy ?
(A) 9%e /General
(B) WX 4% Hrefei/Air Chief Mmhal
(C) v=fiRe/Admiral
(D) m-aﬁeﬁ——e/slxb Lleutcnant

;f 34, IR A e v T A
e

thmdmummor
America, Bill Clinton visited Jabroul

village, nwbwknaw,muawum
mlmonon

(A) AR/ Malarin
(B) =R /Diarrhoen
(©) Rrain/Education
(D) Ug¥/AIDS

uwﬁau s Wﬂgﬁmt
e AR B AR A w11 g
AMTH @ T o
¥ St & w=ef 8§ o wh d 2

Gandhi’s 11 points ultimatum was given
to the viceroy before starting Civil
Disobedience Movement. What are
correct with respect to This ultimatum ?

(1) ug-<fer fafma a3 @ H7 B3|

Reduce Rupee - Dollar exchange
- rates

(2) 'Hmﬁsouﬁm:ﬁmml
- Reduce land revenue by 50%

(3) o B B Rer w1
Release political prisoners

(A) 1 3R 2/1 &2

B)23x3/2&3

©) 13R3/1&3

D) 1,2 33/1,2&3

thh is the shomn day m Swthem
i -'L}Hﬁmlﬁpbﬂr B i
w22 ﬁm/zz” Deemlm
®) 21 ‘m/zmm

39. Frfafed § 3 feas e & R

»‘C’“"J“‘?'. et

d. AR
Match list-I with list-IT
List-I (Country) List-Il (Capitaly

a. Tanzania 1. Rabat

b. Kenya 2. Nairobj

c. Namibia 3. Dodoma

d. Morocco 4. - Windhoek
@ B © @

(A) 3 2 4 1

@ 1 2 3 4

C) 4 3 2 2!

D) 3 1 4 2

(1905) % fade ﬁgq =TT BN A
fom am 2.

Who among the following lead the
agmtlonagamstthepemuonofw
@asgsyp s £

(A) ¥ - T /Surendranath
®B) §. IR T V/CR. Das
1/ Ashutosh

(D)vmnm TR %nubmdnmm\_
Tagore
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40, s R A 5 <uifen ¥ ?
The name of cloud ‘Nimbus® defines :
(A) U8 B TE A T /Looking like
feather

(B) R N TE T 10l /Looking like
heap

(C) a1 ¥=/Rain cloud

(D) SR ¥ TMAHR A qr/Having
rounded tops

0. (C)Iwawmﬁam R

s m a5t ‘%E: &

41 mrmﬂ &mm iai aa’éh 2=

The Canadian Pacific railway runs

between :

(A) S99 SR Afsaa & HeAa/Duluth
and Montreal *

® weE IX TEe W/
Sarkatoon and Qucbeé

(C) e six fT & 7ea/Seattle

and Winning
O iR dr e ® o/
VanoouverandHahfnx

mawmtmﬁmm
) wifaer fopatn o B B 7
Whoh”uwpowatodwlmunuuu
schedule arca for the protection of
scheduled tribes 7

India ;
(B) WA & ¥

(A)mtuuﬁﬂ#/l’nmmd, o

(C) US4 W Y@ /Chief Minister of
the state

(D) MR & GuersaRY/ Voice-President

of India
42, (B) WA 244 (1) W T Wy

Rl A i
R ¥ :

43, ST WY § e uhﬁl mﬁ T
- .

Aasra Yojana was started in Uttar
Pradesh in :
(A) 2012
©) 2014

(B) 2(')13
(D) 2015

44, I 5 SRET &fﬁmzﬁﬁatam
Il % AT P HEARY S PR
& wft g ® ?

Under which article of the constitution
the governor of states has been
empowered to promulgate ordinace ?
(A) = 123 /Article 123
(B) Jg== 211/Atticle 211
(C) 3rg=a 213/Article 213

(D) I 212/Article 212
e

45. ﬁﬁﬁﬂw—ﬁmﬂﬁﬁm

| g fofad T8 R ?
Which of the followmg bmks is not
wntten by Sarojini Naidu ?

(A) & ié fa/The Broken ‘Wing

®) T et m / The Golden

: Threshold
(C) & e a:#/rhe Golden Bird
(D) 'q 'd al’l'lb' a’ﬂ/‘l‘ha Bud of 'l'lme

.mmvgv#mﬁwwﬁmm
o AR

~ (B) 7o WE/Guru Ramdas

(A) 8 alve aarey et 41 e wa
A/ Cultivation of both cash crops
and food crops

B) & m A ¥ aftrw wwed B vw B
WA A I/ Cultivation of two or

more crops in the same field 11‘
(C) gy o wHaA FEEA B 0w
WY FHA/Rearing of animals and '
cultivation of crops together
(D) Sufe # & B 78 /None of the
above g

A BT
47ﬁﬁmﬁﬁﬁﬁﬂmﬁm

AR’ GAER-9F ARens g 3R
wfenal & ford i 2 & ?

In which of the following state “Bahini
Darbar” a monthly newspaper for the
women is published by the women ?

(A) 9T g7t/ West Bengal
(B) 9Ik@Us/Jharkhand

(C) WERTSE/Maharastra

(D) 5e1 wézr/Madhya Pradcsh

Which Sikh Guru compiled the Adi
Granth ? Ll
(A) T® 3e/Guru Angad

(C) T® YT 9/Guru Arjun Dev  *
(D) T° T4/Guru Har Rai
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g 49, g ¥ oy A v R A 7
' Who founded the dynasty of Tuluva ?

(A) ¥Rl 7®/Narsa Nayaka
(B) PR WA/Krishnadeva Raya
(C) Srega wu/Achyuta Raya

| (D) A% A8/ Vir Narsingh

50. Ve AR WG UX IHEU IR aren
AR P ?
Who was the first Muslim to invade
India ?
(A) >3 w8 /Firdausi Shah
(B) g&=1% ¥/Muhammad Ghori
(C) Hrea f& HIR/Mohammad Bin

Qasim

(D) &S o481 /Mahmood Ghaznavi

51 T 3 P ST & B P
Which of the following is not an
Upaveda ?

(A) 9393/ Dhanurveda

B) W/Shmashasm

(©) mgd=/Ayurveda

(D) Wl Yogveda

= _ . with the RBI
3 i AT 2 M; + SR B oo @
(A):;ﬁf«miﬁhﬂﬁm&nﬁﬁ . ‘igﬂw;ltl ol
ST HER B Y/Stores + All deposit
au;ft“qrmmpnity n about the user’s web mmﬁol\ﬁ+u with
~ actiy : IRE W W B
(B)WWWM‘I?W' .:‘m,f“ o ™
: WMMW . statements given above
(© St S ) o oy
/mw;uquxdafﬂmm # (a)mzlmwz
m)mwdmunuﬁwtm ©1R23/182

prepp

\\\ .

82w @ N e wn ey we -
el wnfiv gan ¥ ?

Where has world's largest Wi-Fi network
been established recently 7

(A) er@/Meghalaya

(B) 9&A1/Patna

(©) fafrdr=r/Philippines

(D) G/ Mumbai

(A) 1982 (B) 1983

‘ ] ARl (C) 1986 (D) 1987
. P aut & & P e A4 58 (B) | wﬁm :ﬂf Prany
e Y o) ¥ ? m *"m B oy
Through which one of the following e . (OPNED,)

groups of countries does the equator
pass ?

(A) Ffrer, S SR s -
Brazil, Zambia and Malaysia
" (B) Prafeean, Sﬁ'\'ﬁm
Colombia, Kenya and Indonesia
(C) A, e SR HeARrE
Brazil, Sudan and Malaysia
D) ﬁgm sREfRE Jik TRRE

56, wETTA =R=s1 n\@l ﬁ A H oy
aré & e B E ?
PM Narendra Modi declared how many
smart cities for India ?

(B) 100

aamceedd

(A) 50
(©) 150

Venezuela, Ethiopia and Indonesia T I o1&d X
(B) HE X1 P 13 R 7. mﬁaalmqﬁtwtmﬁ
1 Pl W) fER Fife—
Consider the - following statement

.regarding the measures of money supply

in India :

1. M, 9l % U SUGed TE o+
iﬁﬂrm#wﬁm+mﬁ
aé ¥ 3w @ ¥ e B
M, refers fo currency with the
pubu9+qlcnandd=posi'swithﬂw

- banking system + other deposits

-d 1
Wb, e t/sm&o. (mmﬁahwmom

Your Personal Exams Guide
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©) Al BUT WA ¥ 61. 7 2016 # ww yaw
vardh faw
-wﬂmﬁM‘MzM;Mm e e 2 i ‘3':““ﬁﬁ%'ﬂﬂwmﬂmmm
A m In the year 2016, U.P. Pravasi Diw i ?I'I"Lﬂ il
a8 was Th
Q?‘i"""'“ mi:m R, Ty celebrated on which day ? fu:d i prow;edbepﬁ“ S
m g e : wil impl d for
+ RBI *Wﬂmﬁ = Eg: : ST/ 4‘:1 January which of the following items initially ?
= Srat /9™ January 1. =/ T 2 Rubbe:
Mz_M1+Wmﬁm (©) 4 wRaQ/4™ Februa ea‘ s TRt
; 3 & o ry 3. @r/Onion 4. Hiht/Coffee
M; =M, + ¥ ¥ wafy s & EA; ’?JP m/9 ?:’mnry s 5. &i1e]/Potato
M, = M; + U 3iffew Wl g R (A)3 3 5/3and 5
‘Wﬁ%m' gl ®) 1,2 #x4/1,2and 4
s8. . ffyd s 153 g e Raw 21-23 (©)1,3,4 4R 5/1,3,4and 5
Wh“"‘ “:mo“é 0 R R SIS 2019 I ARV # AR (D) 1,2,4 9% 5/1,2,4and 5
0 c followin - . = "
disinvestment (:ommissiong?ls s el g o Myanets § el
62. AR wfre R & e B waTE B @, W 3 A BT
(A) 90t & FSN/G V. Ramakrishna aftr o e ¥ R 3o o B Rerdror ¥ vt R |
(B) &. TA. A/ T.N. Malegum ey Sl are row’ &1 SO e S
. ! 2003 ¥ =, FH, WG & T
(C) ¥ AYET/Rakesh Mohan 15w Aol & g et 3 & - Retra=on @Y @ T |
(D) afd& g&/Abid Hussain YAk 64. e IR—
: R The status of “Special Category States™
8.A) @, ﬂ 7 s - is given to certain states to target the fund 2 o
& . AeTE—NE A (NPA) flow for better balanced growth. Which 2 RTA I ERE 1. TEEER
q gEtud of the following states fall under this Aorie v e
o e e AR ik e
ek 1. roTeeri/Rajasthan 5 .
e gie—amR AR b U SERI W@ 2. EGE
2. Saxrgus/Uttarakhand
59, FoTge P e Rer ¥ 5 R oY @ e
; 23043
Kyzyl Kum desert is situated in : A A PR/ Jammu & Kashmir 3
(A) WS 3%a/Saudi Arabia i ¢ M= TE@H T 3 A
o Sl oA 5. ferae y¥/Himachal Pradesh A R
orthern
6. <@vs/Tharkhand e
(C) SSafepear/ Uzbekistan 4 R ™ B ﬂi YR W T8 W Reaw IgET TRER
(D) ST/ Afghanistan T & WAL e
59, (C) Fomge P T Tl Select the correct answer using the codes vt
TR foll 5
TR, AP © given below : e I hhizs I
fafa ¥ (A)1,5 @R 6/1,5ad 6 .
f g a Indian Grain Storage 1. Allahabad
wmmﬁm“ﬁ“?fﬁqﬁ ®) 2,4 X 5/2,4and 5 Institute management
¥ P SarE T & / d research
(C) 3,53 6/3,5and6 an
The rivers of South India mainly have D) 1,3 #R6/1,3and6 b. National Institute for 2. Hapudh
which of the following drainage oS * Entreprencurship and
patterns ? Sotall Buai t :
. Develepmen Uit
(A) 3r¥ra/Radial \ ¢. Govind Ballabh Pant3. Noida
(B) @fded/Intermittent Social Science
(C) gergAT/Dendritic Institute i
(D) SefaT/ Trellis d. Harish Chandra 4. Allshabac
B Research Institute
abieidifabed ;
@2314 @®3214
D123 4

©al 23
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65. (A) ¥ WRAET T AW TP

65, Pt 3 ¥ R orera e @ 4 g

SR T gl B goaTT B ¥ ?

Which of the following ministry has

recently started ‘epace’ and ‘infracon’

facilities ?

(A) 9% UREET WAGT/Ministry of
Road Transport

(B) Y& A/ Ministry of Railways

(C) FFIRF SSSTHA HAHA/Ministry of
Civil Aviation

(D) ¥y fAFE  FAGT/Ministry  of
Urban Development

P % & ¥ <

66. ﬁwﬁ%mmﬁmtﬁuw

& Y U & ?

Which of the following form the major
ts of the Wholesale Price Index

in India ? ; i

1. fid a%gY/Primary Articles
2. 397 X A /Fuel & Power
3. Hard/Services

4. fafafé Seare/Manufactured Products

%mmwtmmwvﬁm

Selectﬂwmuﬁmtluoodugivm
below : ikl
(A)1,2 3% 4/1,2and 4

195 (B) 2, 3 3N 4/2, 3 and 4
©) 1,3 34/1,3and4
Dy 1,28 3/1,2and 3
66, (A) oV o i (e w
2011-12) Gt S gt 697
L el % e % S o g
Wi ¥ gy wefs A,
R aeqd o o @ e
el 697 awgd v T F
67. =1 Pl wR far Hifve—

Consider the following statements :

1 #a & § ggEe avs e A
St Sier aReg ‘Ta. o, @ F

268 YT P ez i |

Recently  the Prime

Council (SCZ)

2. e AR ggad A sfal S

RS P T ¥

Telangana and Puducherry are also
the part of Southern Zonal Council.

mﬁﬁmﬁ—w/ﬁmﬁﬂi ?

Which of the statements given above is/

are correct ?

(A) %dc 1/Only 1

(B) %ae 2/Only 2

(©) 1 8% 2 <Hi/1 & 2 Both

(D) SWRIE H BIS ﬂ@i/None of the

above

.wv&w#m—mmglﬁhﬁm

e

_The number of np'o-ohmanc zones in

 Uttar Pradesh is
AL § et B, 7
WCHY, (D) 1

L

i Yy SO i s Y

. Minister

Narendra Modi chaired the 26™
conft of the Southern Zonal

69, e ol ae e HY—

69.

Consider the following statements -

1. wregufer/President

2. auereafer/ Vice-President

3. o A WA G Al | mermber,
of Rajya Sabha

St % A B D ey

gt % PEATTER TEd i gy

% e I A R T ey

g o % ?

Who among the above are elected S

accordance  with  the system

proportional representation by means of

the single transferable vote and voting ig

by secret ballot ?

(A) %aet 1 3 2/Only 1 and 2

(B) ¥ 1 AX 3/Only 1 and3

(C) ¥det 2 3R 3/Only 2 and 3

(D) Suga FH/All of the above

(A)vwﬁ SRR
Ut R word
PR v Wi W 5
e ¥ < e B o 3

IS WM P el g §

| g o e o

g TP P 7 F W
ﬂﬁﬁm%l

Consider the following :

1. ®fer® FfPIR/Fundamental Rights

2. Wfer far/Fundamental Duties

3. I & Y FRY® o/ Directive
principles of State Policy

SRR W ARG P WA B P

HET 0 6 a4 & g=al A ey & wawr
< i B ¥ ?

Which among the above parts of the
constitution enshrine provisions for the
education of children from 0 to 6 years ’
(A) % 1 3R 2/Only 1 and 2

(B) %aa 3/0nly 3

() ¥ 2 3R 3/Only 2 and 3

(D) SuRIaRT F1/All of the above
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Central Vigilance Commissioner holds

the office for :

(A) 5 T W 62 T B AY/S years or 62
years of age

®) 5T W 65 T B IY/5 years or 65
years of age

© 4 w62 H I1g/4 yearsor62
years of age

(D)4 7 & 65 a§ H 31g/4 years or 65

years of age

7. IRHE UEN ARG Fel Rer ¥ ?
Where is Thattekad Bird Sanctuary
located ?

(A) % /Kerala
(B) 3r6UTEd Wa¥/Arunachal Pradesh
‘ (C) USTTE/Punjab
(D) 'ﬂ'\ﬂ"ﬂ’ﬂ/ Gujarat

73. ﬁwmmaﬁﬂm—waugmm
# gfe ¥ fea ¥ Gy w@HRE ?
Which one of the following countries
stands fifth in terms of total area in the
“world ? :

(A) FToiret/ Brazil

(B) 3roffseAT/Agrentina
(C) WRa/India

(D) sfeferan/Australia

s -——AL Y
¥ 2
Which of the following is/are correct
about the governor ?

76, T WAF ko + 2+ 3k =0 WS A

prepp

uide

Your Per,

1. T I R wReg % 1/4 e

B T e 76 Ok 425 3= 0B g b

+eo=
He nominates 1/4™ of he members : a iko@w‘*lﬂ
of the state legislature council, b=2
2. T vre-gfeme WHET % o 5 =3k
Rerm % fre 2 wawi @ > i =
AR Y e ¥ | : O A
He can nominate 2 members to the :
state  legislative assémbly  from B PR = —
Anglo-Indian community w ’
(A) ¥ 1/Only 1 e b
(B) ¥ 2/0nly 2 ety
(©)°1 e 2 R/Both 1 & 2 o o R s
(D) SR # ¥ B 78 /None of the Eea e asiis e
above 77. A T P A 14 ¥ AR A
4 ) W A o e e i
e R aReg » 1/6 '

If the sum of two numbers is 14 and their
difference is 10. Find the product of
these two numbers.

(A) 18 (B) 20

Wﬁ*ﬁrﬁmm’tl.
-ﬁm w’i mwm ;

75. wmmmﬁm wnmgm g2 EnZe

Prfied & ¥ frw gl ¥ Praw 77 (C) W W@ a7 b ¥
of wRewr AR quvE F RN yEEEE 2 Fai

As per Wildlife Protection Act, 1972;
there is provision for absolute protection
and offence in which of the following
schedule ?

1. SIgREA-1/Schedule-1

2. FIFGA-2/Schedule-2
3. g§A-3/Schedule-3 e o
4. rgqA—4/Schedule4 78. 227+ 3x - SH T SIS R 2 —x+ 1 W
(A)mlams/lmds y s SR ;
(B) ¥ae 2 A 4/2and 4 What should be added to 2x* + 3x — 5 to
() ¥ 1,2 @R 4/1,2and 4 gt x+1?
© (D)% 1 AR 2/1and2 W) #-dxt6 @) P-4x+6
D) ¥ —4x-6

(C) ¥ +4x-6

mmmtmtdkm, : R
B oy 79, frer - 990 e 7 82
Ifthemmlofﬂwroouoftbeequmonbtz " Which of the B Mwﬁllmedof
+ox+3k= Ouequdmmmrpmduct, : fulloying pek 5
thenthovnlueofku* X bt
'(m/s

(C) 213
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um RRFN fge sl A
e R g R o 2

Which of the following is used to
" transform chemical energy into electrical

: b e N ssm'ma»mmgw”
(Nﬂwwamwm ‘ wtmm:[é],x[é]‘x[ib] %7 ki
B ¥/Photo cell \ ! X X farmmoa
s WIEM S0t ; P How many three digit number are thejy
mm ¥t/Secondary cell Sitriphfy : [ﬁ] % [i]’ A [i ]' which are divisible by 17 7
@- % 5 . X xa xb (A) 41 | (B) 3
Al ; ) (D) 54
®) 0 .
(C) xa+b+c

(D) Tﬂ?ﬂﬁ%‘ﬁi ﬂﬁ/None of the above

) * A
81. TR B TERE B A F R DH- |
SUS TR AT e ¥ ?
Which 1 is used to the
depth of the ocean ?
(A) BeHIeR/Fathometer
(B) Ff¥Ariex/Eudiometer
(C) S¥eR/Barometer
(D) ¥R/ Periscope

.ques on ?

86. 26.003 x 37.998 —309.010 = ?
(A) 685 ®) 695
©) 68(? T (D) 670

82. e yftrad arfife wnemo <0 # &% ¥
P o 8 % g A o 7
At what rate of simple interest certain
amount will double itself in 8 years ?
n : g mumﬁnwmwm
~( ) 12% - ® 12,2 % WWWM
(©) 13% D) 15% The temperature at which wandwd

?Wﬂh t&m
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(A) FERHERIET/ Chloromyeetin 93. &% A Wy A o B Rk 2w B
(B) g frarsnss /soniazid 24 e 3y 30 uvE § w7 %) af
©) M/vammyc(n WEY W UF W wha B o, @ A
(D)W/Mmmne e Py e e & 2
Two pipes A and B can fill a tank in 24
hours and 30 hours respectively. If both
the pipes are opened simultaneously in
the empty tank, how much time will be
taken by them to fill it 7

(A) 13992 20 B 2/13 hour 20 min
(®) 12 ®we 10 fF2/12 hour 10 min
(C) 14 |92/14 hour

Which chemical compound is related to (D) 10 502 5 /10 hour 5 min
vitamin ‘E*? & x

(A) SPIBRIe/ Tocopherol
(B) ST/ Biotin

(C) B /Calcipherol

®) /Naphthoquinone 92. T Sl A A B 2/15 AT XA

) TR : mms/zowmwmwmw
10 i Wi g™ @@ @ &,
S g o T 50 |

A man perfonnsZ/}S ofthetoml;oumey 2
by rail, 9/20bybusandtheremmnmg 10 4
'km,onﬂ\eayi: HiStohl]oumtyu £
(A) 312 f@f/312km §
B) 384 M/su km' g ;

© 32 &M/sz gkm

90. mm ﬂﬁ?ﬂ D ?
Camnlhtensanmeofwhlchmeill?
(A) UreRiz /Potassium

(®) egRifer/Aluisitg

(C) #< /Mercury ) Al

(D) FRfv Usanive ;




W ~

9. 60 e Prsn 3, qu o< el @ ST 98, A e i e st 1920 e 101, T o P ABC forn o,
307 %125 W oo wey ¥ e mm“mmﬂtw A-ﬂrzﬁﬁxmﬁm

R ard) P ) e e st 128 W), o qu om0 2w
Tn 2 60 it mixture, the rato of milk and mwummmmmhm mmmmw-m,mm
water is 3 : 7. How much water must be ) o m-mnmxwm

. 9. e Wy ¢ g "

B D
: (A) AD* = BD ~ DC
”ﬁwﬁvmmmmmm (B) AB? = BD x AD
Ty (C) AB? = BC » DC
Whlchofthetbllowm;mnotabmm (D) AB? = BC » BD
disease ? Ll ; —
(A) & S8R/ Typhoid
(B) @/Plague
(C)m/Dlphﬂam
('D)W/Asﬂlnin :

96. 71§ § I arfew IR} ?

Which of - the following is scdu'

quantity ?

(A) P/ Work

(B) ¥/ Velocity

(C) W@ /Force s B 102, A AR 612 6
e L ool i Simplify : 672 614 618

: el @6 2

© 216

B ‘@iﬁ!’!ﬁ'ﬁ&ﬁ'ﬁ?ﬁ%&!
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106, DA w1g w9 A o gawm ¥,
- wgRe hghr

~ Which metal is good conductor of heat
~ but bad conduetor of electricity 7

b (L | = v Ll
(A El/Gold

3 1) ’ -4
103, 1-—+—~.~3—3+...mn? & AT A —
Find the sum of ;

Pia S RO B s )
Sp ety
S 3t

(C) wifa/Copper (D) FH4YSilver

- ® /6
) 4/9

A)1/2
©3/4

rrep

Your Persong uide

110, Bt ABC# afs ZA - 557, B R C
W Al Al 7 A A
In AABC, if ZA = 55° then find out the

 sum of external angles formed on B and
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mvﬁaﬁmmw/ﬁ)w
xR
wmtuﬂloululﬂo value (in x.wg) of

114. Rrve SR N SR veen Rafi
PR ?
Which was the first vitamin to be
e by gl 9

pr

(A) e &/ Vitamin C

(B) faerf® T/ Vitamin A

(C) R &),/ Vitamin By,
(D) fa=rfd &/ Vitamin D

118

=

ST ————
thchofdxcfollawmgmnotan—lw

(A) TXS[Castor  (B) #a®1/Maize
(C) 9@ /Rice (D) F1/Gram

116, TS 3 g TediEd & fsm @
o w1 @ fag I frfatea
TG B T AN E 7 '

. Whehofmetoﬂawmsmbnlqwuu»d
1o separaic mixture of acetone and
,wm7

117.

i A
120, I a:b=3iZ, 7'
3
d:o-%:; A, Ma:b:c:d=9
2.1 23
Zi=,bie= ==
WIORSRe Y™ 7w

7.3 Bt
d.c=16-sthena.b.c.d ?

(A) 16242550
(C) 16243035

(B) 18243035
(D) 162430:50

SR HT pH 0 A ¥ ?
What is the pH value of tears ?
(A)74
(€) 60

(B) 85
D) 63

e & & - gfe ﬁﬁﬁm
3 S 9 H SN F B A 8 P
Which of the following device is used to
connect various devices serially ?

(A) Ra=/Switech w6 {
(B) WIo IR/ Connecting wire 121, t3000$l 10 mmﬁaawzau
(C) YgereR/Regulator S

D) mﬁﬁrﬁﬁi{ﬂﬁm@"fﬂ*m The compound interest on T 3000 at 10%

. p.a. payable annually for a period of 2
year and 4 month will be : -
- (A)T821 (B) T 831
©)2771 D)3 751

wmawmam%gm
Ay Al

The gnx used f npemng ot‘ gtem ﬁ'uns
*) WWIAwtylene

(B) Sfref/Ethylene

(C) wrEsIoT/Hydrogen

(D) P14 SI¥-SiTaRTES/Carbon Dioxide
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22, T @ R u
102,99, 104,97, 106, ? by /Carpaly
(A) 94 (B) 95
(©) 9% ) 100

‘Q '

f N
2 1sa

A

‘ 127, it - AN U i1
Whohlsd:;eovemd transformer 9 LR SO ,ﬁ*m # (A) Srershan/Protozoa
(A) ST/ Spangler - which (B) W /Porife

of the following Departmen Sty
® . TG, Maroon of & hoopial wil “CATH T Am ., (C) PR Cridara
©) 'qm. WL/ Michael Faraday found ? ’ (D) &4t /Helminthes
(D) TR &/ Walter Hunt (A) Yeireiioh R/ Pathology | pon,

B) w1 fifpem s/ Surgery
(C) Fiféareirch T/ Cardiology

(D) YfFerR AT RA/Nuclear
Medicine

124. T 1 SIS T @ ¥ ?
What is the industrial name of Epsum ?

TEREM  wewe PR SERE o g ——
(A) Sulphate /Magnesium Whicﬁ of the following is not a symptom
(B) $R¥ ¥/ Ferrous Sulphate °i‘{""°‘“ LN :
(C) WS SHTaAEE/Lead Oxide. G m/l’“hns very thirsty
(D) T WRiFHE</Lead Peroxide /(B) ¥ B Fl/Shortness of breath

(C) uF  HEGH DA/ Fecling ; P G A e
e VRS Y a1 5 o8 % o e e 0,
(D) 9 T/ Weight loss o P24, 327 36 3 R I W
e W AHA 19,27 331 ¥)

125. TS F ¥IHT I DI & ? \
Which is the respiratory organ in spider ?
(A) ¥R &I F8/Body Surface

(B) 9% @™4/Book Lungs

(C) 3% fird/Book Gills
(D) TR rev/Air Bladder
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In a given figure, ABCD is ( .'_). (1—[-)
parallelogram in which ZDAB = 75° and 136, afy -'+’ 3t | x +x’ AT

ZDBC = 60° then, ZBDC is equal 10 ¢ R

1 (:+l)=3.~ then (x’+-l-;) =3is 139. gwmmm SIWW% 2
. & What is the SL unit of magne
i ; induction 7
) 10/3 (B) 82/9 (A) hEH/Poise
1S ™) 1 (B) &%/ Tesla
(% RO R ¥ (C) 2rareX/Dioptre
(D) ¥=3a/Candela
139, (B) & gabra 1 61 S1 3 3
B R B
=1 AA
(0.73) +(0.27) Y
(0.73)> +(027)* -0.73x027

(A) 0.27 (B) 04087
D)1

140.

(0125 % 0.125-0.004 x 0.004) v
o

0.125+0.004
(A)0129 - (B) 0.121
)06 D)0 03125

A A
. MOMENT ¥I&% & $&R] &1 faheril axe
W FHIE IR GFTE ?

In how m;nyWayscanﬂle letters of the
word ‘MOMENT" be arranged ? .

141. AR % Fem B W b E 2

Study of ants is known as :

| (A) AT /Myrmecology
t G A (B) &R/ Herpetology
i 18 3 % 0 } (C) 720 : (D) 120 .(C)'Ammcmmlogy

What is denatured alcohol ? S P

(A) TerTet/Ethanol

(B) Q37 + @gesTet/Ethanol + Butanol

(C) el + #Arel/Ethanol + Methanol

(D) #¥Ffa + qéﬂ’la/m;nol +

Blﬂxnol

142, AR O T B e ¥, 79 e R x

AR R
IfOnsmmfu»mne,mmm

Vﬂllmfxm&wvenﬁgm

B&miim apirggeren

gL e
whﬂbofﬂwfoﬂqw.ngmuw S
by carly blight disease 7 :
(A) 1e/Potato @)m/x,”
(C)VW/ISW cane (D) /leat i
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146. st % foe Sarey W Ay AW 3,
FH ST s ey 3—

Peehig;ot()mpnsmwmuqion

. B (7, 3) 9 v -ntima
AT F—
Fmdmeduumewweena,smd@—

®) 337
D)6 FFE
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154, Pt P o g e o e ¥R A 2

3 L3
[ R (A) 0 o :L:;;fﬂ mmm'a\: ﬁigém
151, mﬁmm:ﬂmm (B) X @ @y o 7 1 S 9T RO, 5
aref— (C) aiferap e arar AR s B A BN oy gy
FRESH-BLOOD (D) 1E1 ] S <6 T8 5 4 B A AR B T A oy
@M (B) WS G e R

\ : AR e v ¥, O TE T H ST ey

bl SRR RO L T RS TE SRR R R SR LR N
S T T B A TR T T g

1 ufaa faam B

: o), o, @@, R 156. e 1 S S 2Am—

R S| (2) uREmTara

J T, SR—aw, aft, wEE AP
A I —hH,
(A I S o e (®) g1 B FEn
- B v : SR o, A, S, A | (G S T
(C) TgRH T i ) Uaras  frm R A o R
(D) R T R dw, AR, S 156, (C) SR T ¥ R g s
82 A) T W oW R wede ‘,m,wwmwm T IR A G we
_ AN T @ 99w R o ¥ T T A 0 ek
Mmm#g&wmw

. v & sfa i 4
157. SUgF T B IFHR WER F fay
TRE & AT P Gl BN ¥ ?

(A) Sl =S Td AR A Fea ¥

o T g R R O]
I R s A ¥ g
m#‘eﬁwmaﬂ%?ﬂ*
‘SR, A, e asm\wzmm

P 1ss. ﬁwﬁﬁmmt? B) it ¥ B e B F
:Zjaw ARl g @ (A) ST & T 3
TR R o e ®) Ry (C) S I B ¥ F o ven ¥
e %;Mwmw6wm*' (D) 9 e g 5 forg e e &
o, o, g RE aiRi : )
SEAR e A < R e T A

oo o v a3

153 wﬁawwmmmﬁw
& P werd WO AR 5 fort
R=d ge R ol deh @ ge ¥
felr o e o A E 2

158. lﬁﬁ‘fm%w S ¥ ?

e (A)ﬂw%mmmt
o (®B) o T A gt A A W
B) g9 3o s @ ot
(C)mﬂmzﬂmﬁm ¢ % o
(D)wmrgamr i - S (©) =9 & Yo @ 3t s g

“mﬁ“ﬂ“‘?"ﬂﬁ%lﬂiﬁ D) 99 T H J&T Fedl H A
A TG T A A AN I T R SRl S ¥
BICIE (5L G &R R —, 3
mwma}mmam&
Rrd & sorm o ¥, s oy &g

J““‘“’“#*Mmmmﬁrm-
ﬁlmﬂmt S o
S T R e, 4
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168. 38 ot @1 o1’ farerey < % 7
(A) wHhfydrea arge
; (B) shenfée sueng ‘aRaha’
o 20 GAN c
164. fr=ferfRas v & @ v A’ gem (D)mm
X ? i ol

: Mmmﬁmmt?
o WA @) amwm ‘ (A) 3o (B) s

161, S, 9101, G, MWzﬁrmﬂt?

e (B 58 e e e ‘
?:‘3; (&) ST (D) e (A) foflx ®) Prea ‘
: ©) fbex (D) fam !

(A)wmﬁmwtwaaw W

g & gera e o - _3
 (B) S 9 ¥ YA€ & NI F G TG 4
| 162 SYAEd UEEIT— Vamwm <
“q8 TS SN Bel AT AT, TS W A (C) 39 T WP B T T
ar A R, g B ATl
.‘{5'('.&'):.#5! Jyared | 166, ‘e @1 wPu-RE HR— (D) 99 T WA S T H wwt

®) Remor S _ A a+ e (B) o + AR A e

(C) foran faeror Suarey ©) _ '+ '

163, -8 wﬁwm ﬂﬁt %
(A)E
© =
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